\\\\

F] SH B O N E (/‘%& INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB22367

// \<... 07-13 Chevy/GMC 1500
Rear Bumper

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS Qry
17mm Socket Chevy Rear Bumper
21mm Wrench D-Ring
22mm Socket Bumper Rail Brackets
M14 Hex Bolt
Help of a friend M14 Nyloc Nut
M14 Washer
M10 Hex Bolt
M10 Nyloc Nut
M10 Washer
M6 Counter Sunk Screw
M6 Nyloc Nut
M6 Washer
M6 Button Head Bolt

ANDNNPBPENNEREOOOONNDNRE

2236700

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



\\\\

Fl SH B O N E (/@ INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB22367

07-13 Chevy/GMC 1500
ear B‘rln per

1) REMOVE EXISTING BUMPER
Begin removing vyour vehicle’s existing front
bumper, fog lights, sensors, and grille. We show
how to remove and disassemble your factory
bumper over at
www.YouTube.com/FishboneOffroad

3) INSTALL
With the help of a friend, lift the bumper up to the
bumper brackets and loosely secure it with the
remaining M14 bolts. Adjust and center the
bumper as desired, and completely tighten the
bumper down.

2) ASSEMBLE
With a 21mm wrench, 22mm socket, and 17mm
socket, install the bumper brackets onto the frame
rail with 4 out of the 8 M14 bolts and nuts, as well
as an M10 boIt 2 washers, and nut on each side.

2236700

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM


http://www.youtube.com/FishboneOffroad

\\\\

F] SH B O N E (@ INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB22367

07-13 Chevy/GMC 1500
Rear Bumper

Install your factory license plate lights into the
bumper with the included plastic push clips. Install
your trailer connector using the included M6 bolts
and nuts, followed by securing the wiring harness as
desired. You will need to purchase newer style
lights to accommodate our brackets.

2236700

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



